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1. Circle the correct answer. (12x1=12) LS Loz en
1 Scientific name of pea plant is: et Gl L » 1

Homosaplens o ‘f“: »y (C) Pisum Indicum {U'i" ( &L, (B) Dilbergia Sisso ,,,./tﬁ/} (A)
Pisum Sativum 2 & - di (D)

2 A systematic knowledge derived from observation and b B e e ol eyl 2 (*‘ KV bl L. 2
experiments is: ) o

Science ~|. (B) Biology 7., (A)
Molecular science . J,J|, (D) Bio-technology ¢ J.¢ ,/, (C)

3  Ifahypothesis proved true then what we can draw from i 2S00 e A Vbt e uf/ 7 IS 3
it: ) ’ o

Reports 7,,, (D)  Deductions #355(C) Theory ¢,,% (B) Results {,¢: (A)
4 Which one of the following is not the characteristic of a e Om u—:/ Juf”/k JQ &l [ wer® e Ly 4

good hypothesis:
Must be consistent with available data ,; Y. ~ ¢35 [+, ,’L? (A)

Must be correct ,; ..., {;y (C) Must be testable ,; t5 o~ 5 |, 2 |, (B)
Must make prediction ,; . dkc— (D)
5  Scientific name of human being is: | %L’ va § WUl 5

rosa indica 1 35, (C) pisum sativum e 7 Jy(B) homo sapiens .2y ¢,-,; (A)
allium cepa (. r;&; (D)

6  The stacked of Thylakoids is called: - ':J//{j 2k /U;’La? 6
Leucoplast Jb‘/lﬁ 4 (D) Granum (:,f (C) Cristae ¢ S (B) Stroma (, > (A)

7 Phases of mitosis are: C U w J’!/ z J/; JL 7
4 (D) 3 (©) 2 (B) 1T (A)

8 Raw material for photosynthesis is: e Jl. oG K u}v“ Jé 8
H>,0,C0, (D) CsH1206 (C) CO2,05 (B) H>0,0; (A)

9  Anon functional finger like process arises fromthe blind _ » =72 J.Jé A Jﬁ', Jx’ Al il (:C 9
end of caecum is called: L ‘ ) )

Spincter /,év (D) Appendix ...; (C) Villus _, (B) Villi §, (A)
10 The second function of oral cavity is grinding of food in e bl xS P e u § U K1 &L Jdm 10

teeth is called:

Assemilation ‘}:.‘./f‘”, (D) Mastication J“.:’/&/: ©) Churning _¢ 7 (B) Lurication ﬁg/ (A)

11 Tissue responsible for the transport of water and F s (B e Ut s Qe uz 2 #1
dissolved substance from roots to aerial parts in plants ’ R
_ R TR ) P4
is: ‘ ¥
Ground 54/ (D) Cambilum (J:/,J (C) Xylem r‘:/,/ (B) Phloem r",l: (A)
12 The Largest Artery is called: e QLTS e e 12
Inter Costal Artery ¢ 2,7 J”/[/zz, (B) Aorta i o s (A)

Renal Artery ;7 f:, (D) Hepatic Artery ¢ 2,7 @ (C)
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(Part-l)
2- Answer any 5 short questions. (5x2=10) oz Loy 5 32
i.  What type of organisms are found in the Kingdom Fungi? s JE At £ f:} o e (;f( i
i.  What are the functions of Leucoplasts and et Joil U & J"“,}?,»,/J,, J‘w%/,g i

Chromeplasts?
ii.  Write names of two enzymes. UJ fL' Z Aimss ii
iv.  How is Soya Sauce made? f e d(, db JJL, L v
v.  Name two diseases cause by the deficiency of Minerals. jﬂ L Ut s s vt = ufb(// v
vi. What is meant by cardiac and pyloric sphincter? S iy L/c_ /,CV By L}.E. s _{,/g Vi
vii. What is meant by desication? fe iy P/G S Vil
viii. Shortly describe funtion of pericardial fluid. S b/rg g2 JiK Sz viii
3- Answer any 5 short questions. (5x2=10) Aoz 2L ety 5 §-3
i.  Write names of three main divisions of biology. jﬂ s 8 tf O/W Good
i. Differentiate between Microbiology and Morphology. ALY~ Gdds ol SA4 i
iii.  Explain major biological issues nowadays. -u‘,,/'/u,l,/. e J%,J Aoy Lo LT i
iv.  Write down the levels of organization is sequence. _.'j/c = ; J/:'..'//U.CT iv
v.  What is difference between Taxonomy and systematics? _Jﬂ,’ J) SCIR d}lﬁ RV
vi.  What is meant by co-enzyme. Se s, u/é/,/, S v
vii. Write two effects of increasing population. U,J el 5 £ g T d, &y Vil
viii. What is the difference between source and sink? S G s s Vil
4- Answer any 5 short questions. (5x2=10) ér.«w/f Letr5e( 4
i.  Define Entomology. S S G
i.  Write the names of two major phases of cell cycle. <u—fj G L JP,/ eyl J..{’L/ g
iii.  Whatis main function during G2 Phase of cell cycle? e by fb/ A .L:(U: /;32_ &L J?/L/ i
iv.  Why oxidation - reduction reactions is called Redor - oty Vol #4680 0 s S A48, L.f“;tj T v

Reaction.
v.  Draw a simpel equation for photosenthesis. _uﬁ"’a elsbs T g/.{ uﬂ;"“j} v
vi. What is meant by photosystem? f e Ao e ("" J9 Vi
vii. What is stomoch? Where does it locate? C e b d,, UU/~ s e u/w, vii
viii. Differentiate between universal donar and universal U,J 3) U 2 JQ,,; sl W./"/ JQ,,; Viii

recipient.

(Part-Il)

Attempt any TWO questions. (9x2=18) Az L2 e §
5.(a) Explain the molecular level and tissue level. ~..L.{ =olos Jd)z' # Jx /:;?l. (@)5
(b) Define Binomial Nomen Clature and write its rule. _uf’a Jrot & Ut sl Q/_@/J J;;g BE R Jg (b)
6.(a) Write down the structure and function of ribosomes. <£/f PR d/'/y 1, (@6
(b) Describe the mechanism of respiration. -q/uy. ’,-/'g“, gu“%fu (b)

7.(a) Describe the other function of liver beside Gigestion. & ol Ju rnl B i & u“/:" Jif ()7



(b) Explain the openning and clossing of stomata. _u“/_wu,, d/Ln & ol 3/5 (s (D)



MCQs Ans Key

Q:1 (D) Q:2 (B)
Q:7 (B) Q:8 (D)
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1. Circle the correct answer. (12x1=12) LS Loz en

1 Mass number of an element is represented by: et U b ,J’/ JL L ek 1
K (D) N (C) A (B) Z (A)

2 Empirical formula of glucose is: e s Lﬁ i Kk 2
C.H,O (D) CoHO (C) CHO (B) CH,O (A)

3 Which one of the following can be separated by physical (€ |, (/' _{i _{i = Ui b U‘b S 2 J'/L ~tLies 3

mean? o o

Radicals £+, (D) Compounds ;44 / (C)  Elements 7% (B) Mixturei:( (A)

4 The constant factor in Boyle's law is: . e il £ F o £ S 4
Mole J,» (D) Temperature f~/:; (C) Pressure », (B) Volume fﬁ" (A)

5  How many electrons can accommodate in p subshell: ‘s u,/g@, ol e ool U J:“ —P 5
8 (D) 6 (C) 4 (B) 1 (A)

6  In which block elements of group 17 are found: il IS LTS 6
f (D) d (C) P (B) s (A)

7  The oxidation number of chromium in Ko2CryO7 is: S byt L// Lﬂﬁ«/f gr:f,/u: K>Cr,07 7
7+ (D) 14+ (C) 6+ (B) 2+ (A)

8  Which one is an ionic compound? Se S, ¥l 8
BF; (D) NaCl (C) CH* (B) HCl (A)

9  In Triple covalent bond, each bonded atom contributes e v/(ﬂ/' u,;g, ________ r":, s 2 Ut R _;;L,/JJ 9

electrons L )

6 (D) 3.(C) 2 (B) 4 (A)

10  Which pair of compounds is soluble? ‘e Sl uf¥el, 10
KCl and water &L #KC1 (B) Ether and water &L s F (A)
Petrol and water &L sz (D) Benzene and water &L s (C)

11 The heaviest metal is: e F e = 11
Lead ;) (D) Osmium f:’,, (©) Platinum ('—:”U, (B) Iron ., 27 (A)

12 Which one of the following element is the lightest and S winby u[U,, iy &L Ml e o 12

floats on water?
Mg (D) Na (C) Li (B) Ca (A)
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(Part-1)

2- Answer any 5 short questions. (5x2=10) 2 opiz 2L ey 5§32

i.  Write any two / four properties of the long form periodic <£ o _/u,.a? A,/” G/G/Jﬂ 5 Lz T (A LYd
table.

i.  Why water has polar covalent bond? S b Ll u[ﬂ b»;),,[)z; o ‘}& i

ii. Why does a covlent bond become polar? L(“Lt-t;u u{/z ;; &{;/VQ Aii

iv.  Write down the reaction occuring on cathode and anode - TP 4550 55 2 AL Jd& iv
during the electrolysis of water. B

v.  Write uses of Magnesium. _54/’ e L r{':’? RY.

vi. Why do the non-metals accept electron readily? cr &/Jﬂ, u,[u,;g, M i

vii. ~Why fluorine is more non-metallic than chlorine? ; 8 u,jy@, Wb oslJ e JQAK ,C{/,LE vii

viii. Write chemical reaction of Hy with F» and Cl,. _é_f 4} ua(, S g“"{ﬁﬁp L Cl, s Fy ¢ H, .viii

3- Answer any 5 short questions. (5x2=10) .’4‘7.:41?/3 Letrs5eds3

i.  Name the elements represented by the following W, _é ol b Z ol J/’//:w S THR e S i
symbols W, Ba, Hg and Na. Ba, Hg and Na

i. Whatis relative atomic mass? How is it related to gram? €l 52 d/(}w B ('j KUl fe Ut b P Tt

ii. How many electrons will be in M shell of an atom having JU/G' o J/ MZ Ui« 15/ ST (, L1 i
atomic number 15? -JY Jf

iv.  Why sheilding affect of electron makes cation formation G bt u‘{/f Ld L g ags L2 gu,/g, iv
easy? r

v.  Why is HF a weak acid? e U Iz sy }fF RV

vi.  What types of solutions butter and smoke are? St u‘«,l.« z f:} ‘f/u’}w} sl ‘f! Vi

vii. Describe Endothermic Reaction with example. - JE sl %/%/7 Ju:{, $s ok Falz Vil

viii. Write down chemical reaction of sodium with Hz and Cls. <é 4}' J{, S gr’;y pys Cl, » H, .viii

4- Answer any 5 short questions. (5x2=10) JVW/" Leliy5 < df—4

i.  Write electronic configuration of sulphur. fudﬂ_f,/@, 4J_ e /1/ i

i. Define the modern periodic table. ~§ ‘_y/} JJ" ._J/;”/; sa i

ii. Define polar compounds and give one example. > J& L sl @/.g/" Jf"’/ﬂ;{/{ il

iv.  Define triple covalent bond and give example. > Je L “é_'g/'f U/f‘E 2oks /Jﬁ; qv

v.  On which two factors vapour pressure of any liquid S b g S1# 5 J//Lj, g/i/v/;‘, s éL Lf(
depends?

vi. Describe Exothermic reaction with example. sy Jé L sl “éby/’f Jua(, Y Ao

vii. Define Oxidation in terms of Oxygen and give an 2 J& L é.gf d/u"%ﬁ«:ffc s L ‘f:r,’ vii
example.

viii. Define reduction in terms of gain of electrons. Give an L sl q/by/]' JU—“{;&/ e Lig L Jw L u,;g, viii
example. N7

(Part-Il)
Note: Attempt any TWO questions. (2x9=18) A epz & ety Qe §:ud

5.(a) Define molecular formula and Empirical formula. What is JW" Vg Z e ,_3»/7 Jums Jé/;g‘l 2l U S ),?L (@5
relationship between them? Explain with examples. & el = Ud St UL



(b) What do you mean by electronic configuration? What are g‘ﬁﬂu{,}g, J(":, ufcé Iy ua}‘/g,;g. (b)

basic requirements while writing electronic configuration L S . J
—LE - ~L L’I )// Eq
of an element (atom)? ek Ok U) =
6.(a) Define ionic bond and ionic compounds. Also write S oaif 64T 2 J/'J S ail 64T xl £ (@)6
properties of ionic compounds. N ) ?é/f” u,; oy
(b) Define boiling point. Explain how is it affected by different s ; s6 ¥ & 1 wols L& i 7 § w21y By (b)

factors. w“ 5
St s JA

7.(a) Define Solubility. Give the general principles of Solubility. ~u'//f Ui §of £ Godle g S § sl @7

(b) Discuss the redox reaction taking place in the rusting of 2 ¢, Z1a, J i um & S L L 655 ) (b)
iron in detail. ) éub - JJJ



MCQs Ans Key

Q:1(B) Q:2 (A)
Q:7 (B) Q:8 (C)
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The word which is used by the software or human to ESJe i o L LS T S S a s
process a message is called: ’ v

soft word :,, .3 (D) text ». ¢ (C) password ;,, ;. (B) key (" (A

. Circle the correct answer. (10x1=10) SIS Lz e -1
This strategy divides a complex problem into smaller e L}/(;ﬁ Sk lg gl s47e I S orF . 1
problems:

divide and conquer Q/Ei ol Q/K»j (B) hide and seek ¢: f (A)
check and improve (§ ¢ él, (D) check and balance Ji- él, (C)

We can identify logical errors using: W é /uu@' JJ//J Jé?u lw L/JW; (Z 2
all of these -7 _ (D) trace table (22 (C)  algorithm &0 (B)  flowchart ., & (A)

Keyboard characters has an associated code in: e b I7s L€ (L? 2825 4 504, J 3
binary _# 7\ (D) octal J‘?(;’ (C) hexadecimal g Jf;”ij ,}:‘ (B) decimal _# 51251 (A)

The best example of internal storage device is: e Je o A Jujizj &~ J’/b:; 4
RAM (D) Hard Disk (C) USB (B) CD (A)

ROM, RAM and Cache are ____ storage devices: ‘Ut -/’gg; @“,,‘:f (cache)ij @, (24 5
fixed 2.6 (D) bothA&B A (C) internal Jj-’v (B) external J;/g (A)

u;uB

One Megabyte (MB) is equal to: e 1 /(MB) 24 B LT 6
MB 1024 (D) KB 1024 (C) bits 1024 (B) L bytes 1024 (A)

TCP stands for: ‘e SHFTCP 7
Telecom Control Panel /., J’f’/f'{.‘}f (B)  Transport Control Penal /7, , J;f/;.u*j:i/" (A)
Transmission Control Protocol J,/, s v 717 (D) Transmission Control Penal f J, »“< ; (C)

When some malicious user tries to get some confidential Jf//J'L/J’(, -l YLy U"J g s G P é/_) 8

information, it is called: ) e “?.W/C-l “« e

software lifting _# » 3. (D) mal-function f# . (C)  misusing Jui- 16 (B) phishing _# (A)

Well-known type of cybercrime is: e (3 J f’ S Al Wt 9
transaction fraud 3 } ﬂy,; (B) identity theft g, &’L: (A)
hacking _g¢; (D) advance fee fraud 4 3 Jj (f”%’ ©)

10
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(Part-l)
2- Write short answers to any (4x2=8) 2 Y4 L4 Jo & éf -2
4 questions:
i Describe the purpose of GOTO notation of algorithm. «é o P2 KGOTO‘f:b L (5{ /,JJ/; 1
ii.  On which metrics, efficiency of an algorithm is S ._{T; Ut ((5’/,,17/;) J" CH/,,&; - VQ P ,gfu 1l

measured?

Who is a sender?

S I e Lyt sl S L IS g e
o of il o ZF e, il

iv.  What did Caesar do? WYL L v
v.  Why is it asked to enter Captcha on some websites? fe u/u,fy_ z gfw// u* Y u"d Y
vi.  What is meant by HTML is not case sensitive? Explain. Se iyl Ve < u“ (case sensmve) ,x*" gf HTML .vi
_é =olos

3- Write short answers to any (4x2=8) 2 T4 /'7‘ L =iy 4 Jo & éf -3
4 questions:

i.  Describe types of number systems. _grru e (u‘u erj Sox A
i.  What is meant by file sharing? fe sl Ve LA Jo i
ii. What is application sharing? Give an example. o Jer L R t“/.f}:’ ST i
iv.  Define Counterfeiting. S ;féd;v J2oiv
V. What we performed in Caesar cipher method? Cp S B Ky S A Ao
vi. What is Patent, and why do we need to register it? e th U o6 Ut F ol S ZHTML i
4- Write short answers to any 4 (4x2=8) iz L iy 4 fo = 35 -4
questions:

i.  What does the word Candid refer to? Se b r K S i
ii. Define decimal number system. né: ok 4/7 J("// J‘J/Lﬁ Bil
ii.  Define Computer memory. _E S S e
iv.  With the help of truth table prove that: A.B =B . A AB=B.A SE et K5 v
V. How do we get positive proposition? Give examples. 2y J& o Jy: " 4/@’%;5 Sred v
vi.  What does DoS attackers do? ‘ S L’/ l{'/ £DoS i

(Part-ll)

Note : Attempt any TWO questions. (8x2=16) A epz &ty Qe §:ud
5-Draw the flowcharts for input two numbers n1 & - s 22 12 sinl# 5 = Jido U2 U2 L 2 £ -5
and n2. Determine whether n1 divides n2 or WL L“/ﬂ.j M2 nl s

not.
6- Perform the following conversions (ABCD);¢ to S dx Sy S(ABCD)sg 6
binary

7- What are the sizes of IPv4 and IPv6? Explain the method SAEE LI K S U ««Jf/l-’. - ZIPV6.s1PV4 -7
to calculate the size of these both standards. ’ g b‘:’ K



MCQs Ans Key

Q:1(B) Q:2 (C)
Q:7 (D) Q:8 (A)

Q:5 (B)

Q:6 (C)
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1. Choose the correct answer. (19%1=19)
(A): Choose the correct form of verb. (5)
1 He always a lie.

(A) tells (B) tell (C) tell (D) is telling
2 Doyou___ toschool every day?

(A) go (B) went (C) gone (D) going
3 They_  tosleep at ten.

(A) went (B) go (C) goes (D) are going
4 Ttwas in the morning.

(A) rain (B) rained (C) rains (D) raining
5 Sheis for London tomorrow.

(A) leaving (B) leave (C) leaves (D) left
(B): Choose the correct spellings of the following words. (4)
6 (A) wirship (B) worship (C) wership (D) wershep
7 (A) proclaim (B) proclaime (C) pruclaim (D) proclaim
8 (A) ristrain (B) restrain (C) restrein (D) ristrain
9 (A) ambbition (B) ambition (C) ambetion (D) ambotion
(C): Choose the correct meanings of the underlined word. (5)
10 The Arabs possessed a remarkable memory.

(A) dangerous (B) boring (C) impressive (D) famous
11 The word Patriot comes from the word Patriota.

(A) citizen (B) poor (C) rich (D) countryman
12 The word integrity means:

(A) uprightness (B) thirsty (C) treachery (D) confuse
13 Furiously means :

(A) happy (B) angrily (C) regular (D) see
14 Do not be afraid of death.

(A) attended (B) scared (C) sqaured up (D) none of these
(D): Choose the correct grammar. (5)

15 How would I know? This is a / an___ sentence:
(A) exclamatory sentence (B) interrogative sentence
(D) imperative sentence

16 Wisdomisa/ an

(A) proper noun (B) abstract noun (C) common noun (D)
17 She has resolute faith Allah Almighty.

(A) of (B) at (C) in (D)
18 I came earlier. Here ‘earlier’ is a degree.

(A) positive (B) comparative (C) negative (D)
19 He will appear before the judge. The underlined word is an/an___.

(A) noun (B) article (C) pronoun (D)

(C) negative sentence

material noun

to

superlative

preposition
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(SECTION-II)
2. Answer any 5 short questions. (5x2=10)

(i) What did Hazrat Ayesha(lie =i &l ) say about the life of the Holy Prophet (¥)?

(i) What is the highest military award of Pakistan? (iii) What do you understand by the phrase “in a fit of fury”?
(iv) Note the sequence of events in the text. Classify and organize the main traits of Hazrat Asma (ke (s & o))
(v) How has the poet heightened the impact of the poem by using the figurative language?

(vi) Are we working according to the expectations of the great leader?

(vii) What is the result of neglecting the advice of the Quaid? (viii) What was the Quaid’s concept of our nation?

(SECTION-II)
3. Translate any TWO of the following paragraphs into Urdu. (4+4=28)

(i) Quaid-e-Azam Muhammad Ali Jinnah was a nation builder and a great patriot. He wanted to protect the values, culture, and
traditions of the Muslims of the subcontinent. He gave the Muslims a sense of identity by securing a separate homeland for
them. He said: “"We must develop a sense of patriotism which galvanizes us all into one united and strong nation.”

(i) “Do not be overwhelmed by the enormity of the task”, he said in a speech at Lahore, “There are many examples in the
history of young nations building themselves up by sheer determination and force of character. You are made of sterling
material and second to none. Keep up your morale. Do not be afraid of death. We should face it bravely to save the honour
of Pakistan and of Islam. Do your duty and have faith in Pakistan. It has come to stay.”

(iii) The upper level of the interior is adorned with blue paint. More than 200 stained glass windows with intricate designs allow
natural light to brighten up its interior and the chandeliers further illuminate it with their glow. The decorations include
verses from the holy Quran. The floors are covered with carpets.

4. Write down the summary of the poem. (5)
"Daffodills"
OR Paraphrase given lines into simple English with reference to
context.
1 The waves beside them danced, but they In such a jocund company!
Out-did the sparkling waves in glee; I gazed-and gazed-but little thought
A poet could not but be gay, What wealth the show to me had brought:
5. Use any FIVE of the words / phrases / idioms in your sentences. (5)

(i) dangerous (ii) urge (iii) sacrifice (iv) generosity (v) twinkle (vi) pensive (vii) monument (viii) flamboyant

6. Write a Letter OR Story OR Dialogue of the following. (8)
Letter: Write a letter to your friend requesting him to lend you some books.
Story: A Friend in neeed is a friend indeed

Dialoguéfrite a dialogue between two students regarding prayers.

7. Read passage carefully and answer the questions given at end. (10)

A tailor ran a shop in a bazaar. An elephant used to go to the river through that bazaar. The tailor gave him a bun every day. One
day, the tailor pricked a needle into the trunk of the elephant. The elephant became angry but went away. On return he filled his
trunk with muddy water. On reaching tailor's shop, he put his trunk into it and squirted the dirty water into the shop of the tailor. Al
the fine and new dresses of his customers wer spoiled. He was very sorry for annoying the elephant but it was no use crying over
spilt milk. Question:

(i) Where did the elephant go every day? (ii) What did the tailor give him? (iii) What mistake did the tailor make one day? (iv)
What did the elephant do after drinking water? (v) How did the elephant punish the tailor for his mistake?



8. Translate any FIVE of the following sentences into English. (5)

bk Eoelb W W) o AL F 0 ) ol el O
0F G SUI QT 5 o LK V) e ey e £oeb S STy W)
S §ouSdua i (i) @ oy e 1983 g § 2 pi i Ly M)
_ZUMLL/%WU.%chugJ:M&UV" (viii)
.Write TEN sentences about the topic .8 A Picnic Party
(.Question - 8 Alternative to Urdu translation)

9. Change the voice of the following. (5)

(i) The boy makes a picture. (i) Exercise is not taken regularly by him. (iii) They are buying this house.
(iv) The poem has been taught by them. (v) A story was being told by you.



MCQS Ans Key

1(A) 2 (A) Q:3 (B)
7 (A) 8 (B) Q:9 (B)
Q13 ) Q14(B) Q:15 (B)

B
Q:19 (D)

Q4 (D
Q:10 (C)
Q:16 (B)

Ov

Q5 (A

Q:11
Q17

—_

~

O O

)
)

Q:6 (B
Q:12 (
Q:18 (B)

2\/
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(Lo - il 2)

iz F L ety 6§52

(6x2=12)
I3 ENI e 2 )
e VKW e L eF Y GD
et b Uk wlio U S e Ut JBrsse Gid)
s eles sy B GV
et Ve £ fbj-zjl’(/! e Subr o @)
S Upol U Uiy = e S8 (V)
c & Z S Tp i (vid
Wl U = 5 3 £ Jsuss (viid)
L ol te UEF (0

2 iz 2L ey 6 (-3

(6x2=12)
WS LS P Protee @
&y F e 0 e elF s (D)
Seel U 2w dlip S =2 (D
LW Tt e s u2ulf @
L g L LU eso LG Sy (D
S SE s LT e GiD
ekl n e AL ATEN 2 2r W)
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MCQs Ans Key

Q:1 (D) Q:2 (C)
Q:7 (D) Q:8 (A)

Q:5 (D)

Q:6 (B)
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1. Circle the correct answer. (15x1=15) LS Loz en
1 2
If = 0 then x is equal to: e s X m 6 =0/ 1
3 z e T
9- (D) 6 (C) 6- (B) 9 (A
2 55 —7 515 =7 2
V55 (D) V5 (©) V5 (B) V5 (A)
3 Which set has the closure property w.r.t addition? S Jb K Uk el & sl o Ud 3
{1,v2,3} © {0,1} () {0,-1} () {0} ®
4 What will be the value of a log,6 = 0.5: of wed Satlog,6 =05 4
V6 (B) 6 (A
None of these " 3, - # i (D) 36 (C)
5 Py _ p
log<3> = log (E) = 5
logq — logp (D) logp + logg (C) e () logp —logg (M)
09q
6  logyx will be equal to: bw 41 loggz 6
log.y (D) l0g; %(C) log,= (B) log.z —(m)
log, @ log,y log,z logyz
7  4x + 3y — 2 is an algebraic : ¥ d/-é' Ldr+3y—2 7
In Equation .. (. /“,a (D) Equation .. ;. (C) Expression U/’?E (B) Sentence (7 (A)
8  Factors of 8z + 27y> are : W OF L L8z +27y3 8
(2z — 3y)(42> — 9y*) (B) (2z — 3y)(4z? + 6zy + 9y?) (A)
(2z + 3y) (42> — 6zy + 9y?) (D) (2z + 3y)(4z* + 9y?) (C)
9 H.C.Fof(x-2)and (z? + = — 6) is. e ryu 't (q;2 +z—6)x2 9
z+2 (D) z—2 (C) z+3 (B) 2 +z—6 (A
10 A triangle having all sides equal is called: dw wdus oy AU U L2 e 0 10
{4
None u;( J/ (D) Equilateral ¢ i» _sf# (C) Equilateral ¢ v ¢, (B) Isosceles Ug}'u, $Ls (A)
11 How many angles are equal to 90° in right angle sy £ 900 i él:u: ads =i 11
triangle? ) )
None (D) 3 (C) 2 (B) 1 (A)
12 [ & 5 > o Y 7 12
In given figure x° = : -.éﬁf{ Szot B GG
75“ 10 75“ 10
100° (D) 75° (C) 60° (B) 45° (A)
13  The right bisectors of the sides of a/an triangle ey /L/” L oot $osf  Got £ ek _als 13
intersect each other inside the triangle: oy &/Cg 'y
All triangles Jfb‘ I'L; (D) Obtuse o5 (©) Right :}L; (B) Acute ,,, (A)
14 Any point an angle equidistant from its arms, is Gobr = Udsl £ U1 b5 J[ug L oals J(/f' 14
on the bisector of it: ' é’} Lo ooy o el
Al of these > (D) Inside .,, 5 (C) Oneofarms ,,; u/ (B) Outside ., . (A)
15  If two medians of a triangle are congruent then the ;Cf,; &l 0 ¥ Un JAL;» Cboanl el 0 15

triangle will be
Acuted angled _, 5 5, (D) Rightangled _, ;.7 (C) Equilateral ¢ oy 4,.. (B) Isosceles U:}'u, $Ls (A)



vi.

Vii.

viii.

vi.

Vii.
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(Part-l)
Answer any 6 short questions. (6x2=12) J..«wff L ey 6 df—2
-1 -2 1 0 -
If X + = then X will be? e M XIX + -1 2 10 S
0 -1 0 1 C 0 —1 0 1
Express the recurring decimal as the 0.67 Syl Sl P e $AF i
rational number % where p, q are ) B 5 7& Ous
integers and ¢ # 0. e od Sl
Solve the equation for x and y: (2—-3i)(z+yi) =4+ S Uy xS enle i
State whether expression is a rational 3\_/5 ?u.‘f [ J”L’ 22y
or not. BVats o
Find H.C.F of a® — b? and a® — b3 gL kd® —bPma? b v
Lengths of sides of a triangle are 13cm, 12cm and 5¢cm.  § j.; 5l 12em, 13em Uy JCM C el 00 v
Verify that difference of lengths of any two sides of the i/ 2 NIV, o N,
- Wor 3y £ adis S 25 Yud
triangle is less than the length of third side. o u(éj Al & JC ” d =4
- b ﬂ/c;
Verify that the triangle having the following measures of  .2¢ (. e f5 2.0 UL O/le" L U7 eds S D4 Vil
sides is right-angled. b = 12em,a = 5cm,c = 13cm b”— 12¢m. a ;.E)cm c = 13cm-c w :M
== y - B -9 4
Define centroid. et SV il
Define incentre of the triangle. S 4/5// d,/,u Ax
Answer any 6 short questions. (6x2=12) Jutliﬁ L ey 6 Jf 3
2,3_5,4 —= g — 3 .
Evaluate % when z Ly i Sk £ J/(}V =i g2 y$yz5z 1
Factorize 2zy® (22 + 5) + 8zy?(z? +5) S EF
Solve equation: /2t +6 — /2t —5 =10 \/Qt F6— \/Qt — 5= 0;§J’ IS i1
x =....is a solution of the inequality —2 < z < % SgiferfL2<x< %Vl;l/ Fr=.... v
-4
Verify whether point (5, 3) lies on the line Lo 5,, (20 —y+1=0¢ (5,3) & f“é&u,jj R
2z —y+ 1 =0 ornot. ’ ‘-’u";
Draw a graph. —y=2z 431‘/. o i
Draw the graph relation. One Rupee(~s.) 1 = é$ _g‘_fJ:@ K ehls Vil
Find the midpoint of the line segment of the points. = f’LV L &Lm: K1 28 = oL ,J/u,jg L b viii
A(—4,9), B(—4, -3 ' ) ‘
(—4,9), B( ) B(—4,—3):A(—4,9)
Find the unknown in the figure. _J/r,b' s Jr,@v st ix
Answer any 6 short questions. (6x2=12) .ﬂ/:«ym}"' L ely 6 Jf—4
Is the given matrix singular or non- C— -2 6 L AR Vi
singular? T3 -9 o T

Write in scientific notation. 83000 83000. A7 55 o

i



iii.  Factorize z? —y? —dxz+ 422 IR A
. . 2 . .
iv. ~ Factorize ab_2 24 2_2 S GF v
v.  Express the product as an algebraic 238  z+62+8 LAz (5/.'%’ Jimk v
expression reduced to lowest form. @?~4  o?-2u+l ) )

vi. Draw the graph y=1 U2 J.'.g oS el Vi
vii.  Find the length of the diameter of the circle having centre Lc(_g’ 6))35 U"/(/ K U7 b éu b(/’“ ool L vid
at C(—3,6) and passing through P(1,3). ‘ iy P (1,3) 5

- ‘ ,

viii. Find midpoint of points A(—7,—5) and B(—5,—7) M/r}’” 55 Qs ¥ B(—5, —7)s A(—7, —5) & .viii
ix. Inthe given figure LMNP, sum of the P 8 oN 0 Eueyr S5 [ LMNP f f‘j, X
opposite angles is 110°. Find the 4m sl JL - 11“001’5 K Ul

remaining angles. N T -
14 8m—4n M ‘J../r}y
(Part-Il)
Note : Attempt any 3 questions. But (8x3=24) 9 / Jir dg.é etz L ey 3 < é/ O
question No.9 is compulsory. - 4

5(a) Two sides of a rectangle differ by 3.5cm. Find the
dimensions of the rectangle if its perimeter is 67cm.

(b)
Simplify:

=2 =L
(243) 3 (32) 5

(196) 7!

6(a) If z — % = 2, then find

(b)

(438)/0.056

Use log tables to find the value of:
(388)4

7(a) Factorize

(b) For what value of k, if (x+4) is the HCF of:
22 +z— (2k+2); 222 + kz — 12

— 1 —
z+1

8(a) Solve the given equation: z22—1
(b) Show that the points M(—1,4), N(—5,3),
P(1,—-3) and Q(5, —2) are the vertices of a
parallelogram.
9 Prove that any point on the bisector of an angle is
equidistant from its arms.

OR Prove that Any point the right bisector of a line segment
is equidistant from its end points.

U ol e A6 735 Ut B S bt s £ ST G @5
o 767 b § ST 5 g e (U4 S

=

(243) 3 (32) 5 oL F
\/(196)’1 )
i — L =201 @6
zt + %4

UWOTE o oo o5 o i § o Pty ®

(388)*
s @7
(z+1)(z + 2)(z + 3)(z + 6) — 322

a?+z—(2k+2) L& &t L L =F Sk O
e ik € 222 + ka — 12

ﬁ;m#il ILJ“'/(W&:JVK;A,L/fd,(a)S

#P(1,—3)N(—5,3)M(—1,4)55 5 £ Jud ()
S L e $a L1Q(5, —2)

Lu}/}/'@LJ|HVQ/74J‘L’£%}’]U)/J/£C4V’9
_§_VM,VGJIUJP
o)?ﬁib{,.i‘td»fLb;ﬁ'ffﬁ.«gflfu:/c«:b‘OR
-?M.L‘WLﬁVLu;/:frbigﬁ



MCQs Ans Key

Q:1(A) Q:2 (C) Q:3 (A) Q:4 (C) Q5 (A) Q:6 (C)
Q:7 (B) Q:8 (D) Q:9 (C) Q:10 (B) Q:11 (A) Q:12 (C)
Q:13 (A) Q:14 (C) Q:15 (A)
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1. Circle the correct answer. (12x1=12) Sl S L T SCOTIN |
1 One pico is equal to: PR U
102 (D) 109 (©) 10° (B) 102 (A)
2 How many parts of vernier callipers? Sl 2 g‘g iy L{/’f/! 2
5 (D) 4 (C) 3 (B) 2 (A)
3 Ir;VeIocity -time graph , gradient will give use the value - g_/’, 'y A b’,,b« J(’Lﬁ_&u, 3
o}
Acceleration uz,u{, (D) Velocity L:{u, (C) Displacement .- "5 (B) Distance (o (A)
4 Complete the equation: Pft_Pi Pf;Pi :“éd‘(.:;ul/ 4
m (D) T (C) S (B) F (A
5 tan90° =
Undefined ( ,, u{ r,ly (D) 0.866 (C) 1. (B) 0 (A)
6 InSlunitoftorqueis . - 3 oy v ST KL 6
Ns (D) Nm2 (C) Nm-' ® Nm  (A)
7  The energy possessed by a body by virtue of its motion - é{[&;, dis i.lg J& o o Ju‘/‘,,. o f) u/ 7
is called:
Nuclear energy s ~¢ 2 (B) Electrical energy 7 Jé“/:g, (A)
Kinetic energy S _'g“, &g (D) Potential energy S LP{!’. ©)
8  Which of the following example of P.E: e & G LP{!.’ Je J’[,_ o~ Sies 8
A hammer raised 4,5 |, .L.’(/‘L (B) Running water && I (;15 (A)
Fired bullet |~ §.; éﬂg (D) Amoving car ¢ i, 3¢ i (©
9  Specific heat of Carbon: e o e Sk 9
112Jkg ' K' (D) 121Jkg 'K~' (C) 211Jkg'K~' (B) 112Jkg'K~1 (A)
10  Specific heat of sand is: e o w7 $ e 10
837Jkg 'K~! (D) 836Jkg'K~! (C) 835Jkg 'K~! (B) 8/34Jkg*1K 1A
11 Thermostate is an automatic switch which controls the: = V/J,b/f}g < @,, u@;,’ -—Q &;V,/“; 11
Pressure /:;4 (D) Linear expansion g b (© Volume r’é" (B) Temperature/.;/f (A)
12 What happens to the thermal conductivity of a wall if its (.-

Lz

K

thickness is doubled?

Becomes half __ i, ,; &,7 (B)
becomes double __ i, ,; (,, (D)

A G SRS ST S 12
fe
Remain same . %, ¢, (A)

Becomes one fourth . i, . diz» (1 (C)
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(Part-l)

2- Answer any 5 short questions. (5x2=10) .é.:,uz AL eiir5e 47 2
i.  Whatis difference between variable velocity and S SA U U S Us ¢z Sl S8 i
uniform velocity? ‘ ) )

i.  Whatis meant by Position? Ce s Ve Ry i
iii. Define independent variable quantity. _J/J/j J/u;,. AT il
iv.  Write third equation of motion. Also write name of U Ys v J&1 e U sl J:J el § A2 J;f] v
quantities use in it. o ys
v. A body of mass 4kg is moving with velocity of 3. Find eSS e S S e 324 f) Uls (’j a0 v
its momentum. ‘ é(’w (5"// Ku",’

vi. Prove that P.E = mgh P.E = mgh uS et vi
vii. How you can find the efficiency of any system? e é/r,ly d/u'fu/."; & J("/ s vii
viii. A machine does 9J of work in 3s. Calculate its power. o r,Lv i JJ, A a/rg 9J L% 3s u:"” 1 viii
3- Answer any 5 short questions. (5x2=10) .ﬁ/.s«u.e/f‘ L etr5e s -3
i.  How improve the quality of measurement? s P Lk H d//u”l;’/d/djh i
ii. A sprinter completes its 100 meterrace in 12s. Find = |, d/u" A L“/’/J"[/"» J;{ 100 % & 12 U’/"Muﬁ i
his average speed. : J/(Jl’” ,t,:

ii. Define gravitational constant? sy S oty B s i
iv.  Write the value and symbol of mass of earth. _ufv el sl JJL L v
v.  How much Moon is away from the Earth and o LS U E e B e | b e KA v
Completes its cycle around the Earth? i ‘ o L“/J:(

vi. If height of a body is doubled then what will be its PR - TR F PR T T (2 5O i

potential energy? . ’ )
vii. To construct such a working system, whose efficiency S - u’OL‘ o oS i ("“ s vid
is 100%, is impossible. Why? ‘ ¢y 100 %
viii. What do you know about central heating system. (b e L (‘/ L J A T viii
4- Answer any 5 short questions. (5x2=10) .’&Fouz L a5 3 4
i.  What role Sl units have played in the development of S VSVl St
science? ‘
i.  Convert 1kmh =2 into ms 2. S It ms2 1kmh? i
iii. Whatis direction of momentum? S (}n W Jr"-‘f,» Aii
iv.  Find the acceleration that is produced by a 40N force MU < uz//f JP L!40N Y () L UL (,f ,J{g iv
in a mass of 8kg. -Q/(WﬁAU’JLM’&
v.  What is Atwood Machine? Give its one use. <J///>' Je L6 U1 S U/Jf“b eV
vi. Explain the equilibrium condition of regular rod. <J/.:,>L2u d/cf@“i}’ ﬁ/ d}gi sl Vi
vii. A machine does 30J work in 6 seconds. Find its power. -J/,’)L” il JJ, e CS/J; J#230 & 406 u:“* 0 il
viii. A metal feels colder to touch than wood kept in a cold St ol s L 0’76:»*’ d’Jé’: Sz o Skt = L2 viii
place why? ’ '?u}fé doe ov?
(Part-Il)
Attempt any TWO questions. (2x9=18) -é.:,uz JQJL ey 2 < Jf

5.(a) Sketch a velocity-time graph for the motion of the body. ..(., JJ"/ oS (/L"- $Us 6 Fr d/f) L’/(a).S

F.rom the graph explaining each step, calculate total -,,é r’LV o o J'(K() - J‘/f U s i S
distance covered by the body.



(b) A body of mass 5kg is moving with a velocity of e S eI e G S10ms ! LU J K5 (b)

-1 . . e .
10ms~". Find the force required to stop it in 2 “J»/(’l’/ U /{”‘;J' L Ly f 4D ’(w
seconds.

6.(a) Describe conditions for Equilibrium. AN PN PRI RO

(b) An electric motor of 1hp is used to run water pump.  (ff S L e s S S 2 _f/.?, J/;L JA L1 (0)
The water pump takes 10 minutes to fill an overhead i W o 10 4_ z A /.,Cj y oy ugl e s -

tank. The tank has a capacity of 800 litres and height . X , i :
of 15m. Find the actual work done by the electric motor &% <=4 S e 15m ek Y 800 F¥ S

to fill the tank. Also find the efficiency of the system. (76> &1 § 7 % W S &y g b L 2 A

o
7.(a) Explain the working of hydroulic press on the basis of eolos UQJFK‘C oy Juify =S Loy Z Jﬁ (a).7
pascal's law. ’ é
(b) A balloon contains 1.2m? air at 15°C. Find its volume r,g,, KUl - 392 in1.2m341500uﬁ PV L1 (b)

at 40°C'. Thermal coefficient of volume expansion of L g s - f’J" v & ér}’f .40°C
airis 3.67 x 103K 1. “ B g?: 67 % 16_3k_1é§ g



MCQs Ans Key

Q:1 (D) Q:2 (A) Q:3 (D) Q4 (A) Q:5 (D) Q:6 (A)
Q:7 (D) Q:8 (B) Q:9 (C) Q:10 (B) Q:11 (A) Q:12 (B)
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(10x1=10) TS L iz ens 1
e Jf'" J;/lg (jlaz’ﬁ gedl ”U/! u(j’ 1

25, (D) s (©) 545 (B) g A
(AT Sy Ut A0 2

sxz s g (D) & ol Jl/j (©€) JL{ sl sk (B) & Ul (A)
WO < v £ "Now or Never" £ {i S ufil S er S 3

o+ 1935 (D) o~ +1934 (C) o~ +1933 (B) o 61932 (A)
Sk Gt oS s 21 4y 4

o +1923 (D) o 41922 (C) o~ +1920 (B) o s1918 (A)

e AP GBS A e i s {19195
Skl owf O bk ns ©) gt s gt (B) o ek e ()
ot wir SFE 2 US S 6

1930 (D) 1931 (C) -1932 (B) 1933 (A)
e ABAEE s L s G T

e (D) 7 (© -m ] oy A
) qUi ':J/LU& &L/u Z J3kss 9 8

ol Gks (D) 2= (C) U % (B) T (A)
e 0ky 7 Kutfg 9

& (D) o (C) = (B) g (A)

e P L EF TS o Jb LG s §:2017 10
dez i (D) dg s (© dv i ® s (A)
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(Part-I - Jsf )
6x2=12) .20 =iz & £ =iiv (6) £ 352
U SIS B S B S B sy @D
NAED-BY 205 St (1))
oL L ey ot Sl g oydz Gid
S PG L e e £.1970 GV
_u:"‘ig,gf(uirt?i.ﬁﬁ/ )
(=R ey Ve S (i)
J‘J(L i //-f”{ 6L ey ey Ly (vid
N v L kg bl S L L 2y Uf o] (vidd)
_ﬂukJ:JWLZuJu,/ (x)
6x2=12) & eyz Z L iy 6)g = -3
fuLp e (‘Mub u*’”Lut/L B0
o U AT B P UG e G
¢l i L Sesi il by dz GiD
T o e § 1906 5y 42 (V)
S tw a7 s UL, Fr B Ui iy £ o (V)
S sy e et (VD
oo Sud? it LT i (i)
S s o S e v (viid)
S G B Juar S £ S 6L (%)
(Part-II - 55 )
(8x2=16) -2{4f“ Al L ety e J:(Z-.LJ
U e Joss £ p8 £ Usunt Gog -4

‘u:/'/:)l.b; Jéwﬂfuﬁe/mﬁj(futul < s KJ/P L}yihu}fCl’u:)Ud:ut'r‘l -5

4,4 i
<J../'/..‘>>Lb} J:,}" d} 1
_Q/&i/?/u/éa/fu:uu@.{f" 2



MCQs Ans Key

Q:1(A) Q:2 (D)
Q7 (A) Q:8 (A)

Q:5 (A)

Q:6 (C)
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dy
S
$ B

730

-7

TG0 SL T FCVIIY, £ >D,C,B, A =iz 7 Je ZJy s -1

(D)

(D)

(D)

(D)

?U;('J"&J/uf/jzlé J?{i’&ﬁzjﬂpfjﬁijﬁ

o (C) = 2 5 (B) u:/!’{ (A)
S i S UM S oo = & AL Ughu

MgA (C) vy (B) 452 A
SASE g w8 L LG s F

ey © S oy B S5 ®
ce £ E et T

iy © b 2 o (B) G0 L A
NEADE SBIAT 40 “uby 1 g

lgeLa © 4 (B) e (A)
?‘L%zrf?uﬁfﬂ/K;‘n

ssa G ©) & & @) s @
K P E e E S

e (€) U (B) U (A)
Sty of e e ot S U

- © Gl (B) due &)
=y o &5

! < 6 —> A)
Lo e ST

g# © —¥ (B @
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Q:1(C) Q:2 (B) Q:3 (C) Q:4 (B) Q:5 (C) Q:6 (A)
Q:7 (D) Q:8 (B) Q:9 (A) Q:10 (B) Q:11 (A) Q:12 (C)
Q:13 (D) Q:14 (B) Q:15 (A)
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